restart
Ecua == y"—5-y'+ 6-y=3- exp( X)

Ecua = ((:x_ y(x)—35 % y(x)+6y(x)=3 et 1)
Cond :=y(0)=3,D(y)(0)=5
Cond = y(0) =3, D(y) (0) =5 ()]
with(inttrans) :
EcuaTL := subs(Cond, laplace(Ecua, x, s))
EcuaTL = § L(y(x),x,8) +10=35s—=55L(y(x),x,5) +6L(y(x),x,s)= S i > A3
SolPartTL := isolate( EcuaTL, laplace(y(x), x, s))
> +3s5s—10
SolPartTL = L' (y(x),x,s) = ERT 4
SolPart := invlaplace(SolPartTL, s, x)
SolPart == y(x)=2¢""— & (—1+ 3 x) 5)
restart
Ecua = diff (y(x, 1), 182) + diff (v(x, 1), x, t) =2-x3-diﬁ”(y(x, t),1)
0
Bowa = 55 yix.0) + g (a0 =22 (5ot ©)
alpha := 0
o:=20 @)
y(x, 1) =F(x)-G(1)
y( t) = (x) G(1) ®
EcuaSeparable := eval(subs( (x, (x)-G(t), Ecua))
3 d
EcuaSeparable := F(x) [ ) ( ) ( & G(t)) =2x F(x) (E G(t)) C))
(Zhs(EcuaSeparable) - (% F(x )) % G(t)))
EcuaSeparada = Fx) -diff (G(1), 1)
[ (rhs(EcuaSeparable) — (% F(x)) (% G(t)j) ]
ey F(x)diff (G(1), 1
4’ d
42 ¢U) 2x F(x) — - F@)
EcuaSeparada = = 10)
<L 61 )
dt
restart
Ecua = diff (y[1](x),x82) = 5-y[1](x) =4-exp(2-x) + 3-x

1n



2
Ecua = %yl(x) — 5y, (x) =4 +3x 11)

> EcuaHom = lhs(Ecua) =0
2

EcuaHom = % Y (x) —=5y,(x)=0 12)
=> Q = rhs(Ecua)
O:=4¢"+3x (13)
=> EcuaCarac == m* — 5=0
EcuaCarac = m" —5=0 (14)
=> Para := solve(EcuaCarac)
Para =[5, =[5 (15)
=> w[11] = exp(Para[l]-x)
wy =l (16)
=> w[12] = exp(Para[2]-x)
Wy, = an
> SolGralHom = y[1](x) =_CI-yy[11]+ _C2-yy[12]
SolGralHom =y, (x)=_Cl &> *+ _C2¢7/°* (18)

> SolNoHom := y[1](x)=A-yy[11]+ B-yy[12]
SolNoHom =y, (x) =Ae Srype/ix 19)
> Sist := Aprima-yy[11] + Bprima-yy[12]=0, Aprima-diff (yy[11], x) + Bprima-diff (yy[12],
x)=Q:Sist[1]; Sist[2]

Aprima SRR Bprima e V=0

Aprima | 5 /5 Bprima | 5 eV =4 43y (20)
;> with(linalg) :
> Parametros = simplify(solve( [ Sist]) )

(4ezx+3x)\/?e_ﬁx (4 +3x) /5" 1)

Parametros :=  Aprima = 10 , Bprima = — 10 , X
N
=> A = int(rhs(Parametros[1]),x) + _CI
ﬁ[_w?x_ 3., 4T
A= sef7t  selTr o542 + CI 2)

10

> B := int(rhs(Parametros[2]),x) + _C2




T+
2
B:=— m J5 4 + C2 (23)

/3 3 eﬁx\/?x 357 4l 3T
5

(> SolFinal == simplify(SolNoHom)
_ 3
SolFinal ==y, (x) =_CI T4 C2e Sr_gr— 21

: 24)




